
Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Procent af tal (manglende tal)

________ × 70% = 2.8 ________ × 60% = 42.6

________ × 80% = 49.6 ________ × 70% = 27.3

________ × 50% = 12.5 ________ × 50% = 31.5

________ × 40% = 14.8 ________ × 60% = 49.2

________ × 20% = 2.2 ________ × 50% = 22

________ × 60% = 53.4 ________ × 90% = 60.3

________ × 10% = 6.6 ________ × 20% = 16

________ × 70% = 68.6 ________ × 30% = 15

________ × 50% = 47 ________ × 80% = 76

________ × 80% = 61.6 ________ × 10% = 2.8
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Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Procent af tal (manglende tal)

4 × 70% = 2.8 71 × 60% = 42.6

62 × 80% = 49.6 39 × 70% = 27.3

25 × 50% = 12.5 63 × 50% = 31.5

37 × 40% = 14.8 82 × 60% = 49.2

11 × 20% = 2.2 44 × 50% = 22

89 × 60% = 53.4 67 × 90% = 60.3

66 × 10% = 6.6 80 × 20% = 16

98 × 70% = 68.6 50 × 30% = 15

94 × 50% = 47 95 × 80% = 76

77 × 80% = 61.6 28 × 10% = 2.8
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